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T = 2a a=ls ggi —4&H| Hluse SLE
Al 2,161,308,800( 100.00 %| 10,987,387,140| 100.00 %| ~\8,826,078,340| A80.33%
S S At & 2,055,383,650 95.10 % 1,376,396,630 12.53 % 678,987,020 49.33%
Hy 2 g ZF o 58,278,870 2.70 % 54,848,940 0.50 % 3,429,930 6.25%
el g 2 g 4 0 0.00 % 0 0.00 % 0 0.00%
Jd = & 4l 58,278,870 2.70 % 54,848,940 0.50 % 3,429,930 6.25%
M 2 B = 47,646,280 2.20 % 9,556, 141,570 86.97 %| ~A9,508,495,200| A99.50%
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T E 2a a=ls ggi —4&H| Hluse SLE
a3 =2 48 & 73,953,480 0.20 % 66,142,320 0.26 % 7,811,160 11.81%
el 85 2 g ol 33,450,700 0.09 % 29,391,940 0.11 % 4,058,760 13.81%
Jd =2 & 4 40,502,780 0.11 % 36,750,380 0.14 % 3,752,400 10.21%
Wi < B = 1,522,050,640 4.19 % 0 0.00 % 1,522,050,640 =3
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CH2| ALY Zake! D8 X4

O = F&4d1
O Z=gUlof oY N2AEHA 23l 22 @ 719, 345840
O SHHCTS=8 SHAAIY © 550, 66HoH
O StRICTE=E SAMAY @ 7s0t, 57888
O =28 ZsEIHA X @ 29301, 8=, 828H0HA
O Jt=MoHEE ot XA @ 19201, 1,512840HA

O] 2t&A GlAAIY 2o E

(EC )
A A= ‘2224 12304l AF 12324t

SHE D8t =4 B H| 1,325,636,960 1,831,341,000 1,362,684,940
EF At &= 43,448,000 52,500,000 52,500,000
JF=THOH TIoH odlet 219,936,480 220,000,000 218,295,360
s Z=Glol ol 86,970,070 417,000,000 319,957,830
SAHCT 58 SAALY 405,199,000 299,895,000 66,240,000
SIRICT 58 EAALY 126,534,000 181,201,000 57,630,000
E2: Z2sEIHM K& 76,800,000 82,560,000 82,560,000
LU= MAS SHAF XA 91,000,000 91,000,000 91,000,000
= PNIUNI=X=2=3] FapS PN L 33,000,000 36,000,000 36,000,000
SAL XIS SIHEM AIHALY 17,710,000 34,300,000 34,285,000
gtdA =255 XIH 720,000 6,000,000 3,570,000
JE MoliE2E It X 199,759,410 191,100,000 191,053,600
SMAIH B 10,560,000 28,435,000 25,593, 150
E0IHAl MES=E F&EY XA 14,000,000 7,350,000 0
& SHE o KA 0 45,500,000 45,500,000
22| SME & NJAA 0 101,500,000 101,500,000
Xl SHE S XA 0 27,000,000 27,000,000
Xl 2= 2etE g4 XA 0 10,000,000 10,000,000
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AL S ARI|BH &S
O = F&4d1
O ZAF 82| N2 : 53/ 83,6838 2
O &2 D38 24 X : 2 Al2/ 104,008
O a2 2sp2l N2 : 44 AR/ 122,008
O & PI=2H XY : 775/ 32,0008
O Z4Hs)} HH(E20]) X2: 555/ 8,995% 2
O 22 DRSS 23 2,370%4/ 86,495,568 2
O 82 S= X2 : 1424/ 105,008
O 82 H==2LA XY : 285/ 41,048
O 22 ZHE &4 X2 : 663/ 68, 13722
O Z4hs)t &8 =4 N2 115/ 30,9082
O &2 SONZHE 84 K@ : Ji4/ 191, 107&E
O @4 M B X2 515/ 53,475. 4282
O A UB4HE X : 585/ 19,4888
O 2g (g 84 XY : 703/ 108,508
O StMaOHE X : 1922/ 46,5282
O] 23 OlAAIY ZAEE
(Gl @ &)
Al Gy ] 224 2804 2B
ST L 1,602,821,460|  1.437,941,000| 1,245, 144,680
=4 I X2 53,002,000 87,860,000 84,023,000
se 12s =S4 A 159,890,000 104,000,000 104,000,000
ezl N 119,200,000 122,500,000 122,000,000
Be oioi=2N A 32,000,000 32,000,000 32,000,000
=00} HH(Z20)) X 5,065,000 9,000,000 8,995,000
e nuzEs 22 9,011,900 86,496,000 86,495,560
slos= 1a 102,557,000 105,000,000 105,000,000
se E=2RET 19 73,752,000 61,027,000 53,397,600
=00 2ES &Y (9 27,996,000 33,000,000 30,900,000
SIS 20IX|EHE SA K|S (HE
Cai o SO mEABES) 400,000,000 200,000,000 191,107,000
O1L MAMA SHAL X 53,973,060 53,500,000 53,475,520
2ELe I N 6,927,000 5,495,000 5,485,000
BasY 84 N 415,679,500 253,875,000 249,367,000
2y x| X2 486,000 1,800,000 652,000
SLAUSOHE X2 57,192,000 46,528,000 46,528,000
BAFSE O=HO MUTHAIL
R ae (Eano) 0 160,000,000 0
B2 =g &M Xd 0 68,600,000 68, 137,000
Q| X M| I (2022) 7,260,000 3,582,000
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o
B
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11
5

Atz MADEE RS

2EHEX AFZEIX Mz & S XIZ 0 43044, 3,450ha, 3,815848HA
H=EX AFZelX Mz &SI XIZ 0 30004, 2,450ha, 4,279988H
TAE JIAIEE 2XIE ¢ 1801, 2938H0HA

T GIAAIY ZAaEE

(el - &)

ANEE A= ‘2224 12304l &F ‘2324t
A2 dAD[EE F15 SO 7,566,044,390 9,381,527,000 8,684,532,940
ZAZ(HE) A8 II2EH! XA 26,400,000 26,400,000 26,125,000
IAE dab X2 6,895,644,390 8,823,527,000 8,155,607,940
IANE AIE & JIAEE A& 644,000,000 298,000,000 293,200,000
ZAtE e X3 0 233,600,000 209,600,000
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120t AISRIEH X1 (SHI) 230,927,000 546,542,000 546,542,000
D= GAAIS KA 479,576,000 168, 132,000 141,817,500
2=t AISEZNAE KR 214,887,000 207,662,000 178,633,000
MNRDI=R CE2AS K2 22,500,000 40,950,000 31,492, 560
MY S JEg BEX 89,000,000 120,000,000 117,000,000
2 HLEE NEZAD] A 9,800,000 14,420,000 14,420,000
ARD se=)) Izl XY 24,055,000 37,500,000 32,792,000
A SAE TR OE X 23,003,550 5,775,000 0
g oIR=ES NS UIERA X 49,753,930 98,000,000 97,477,900
A ZAS olor X 20,986,200 21,000,000 20,986,200
g ToT BRSNS SR 26,995,990 27,000,000 26,988, 740
JIEN oAl X9 9,299,950 9,300,000 9,297,450
A SENSK XD 87,694,810 88,000,000 87,705,910
A QU siAl X9 49,738,540 16,000,000 0
A QU (USE K 8,579,790 19,200,000 19,199,110
QXA SE)EER HAKIR 51,965,220 52,000,000 51,951,260
IIERY HASUH K 94,354,980 0 0
S B2 sl K9 25,192,070 76,300,000 76,285,620
OMEE SRR XY 10,890,000 8,800,000 8,778,000
FE=T} HXOD YA K 44,145,000 72,000,000 48,000,000
QRYY OBEA K2 12,997,200 40,300,000 40,285,610
=YY MIOIHRE 0 9,916,000 9,916,000
=YY ASOETID 0 1,621,192,000 1,559,391,000
Al BroiCE =zl 0 228,600,000 208,205,510
2=t OIS ASAIE K2 0 150,000,000 148,637,000
Z0HX B27] oflsAl X 0 70,000,000 69,827,250
OMEE SIXIZY| X 0 96,000,000 94,430,000
B HOIEY O DRHUE D 0 151,426,000 51,354,620
=4 O 2 M2l X 2,700,000 2,970,000 2,970,000
IS wroiy Ryl 0 73,000,000 73,000,000
AHE JIE HalEH K 0 360,000,000 360,000,000
)Jrémﬂﬂa ER I ESEE . 2. 600,000 .
IIEAIH I NI (BIAK 248 0 15,600,000 0
2 A2l o] 0 133,940,000 121,315,020
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Rl ALY E4Ey O
O = FA4d
O E|%HY|] AMEH| : 500ha &I
O JIE2L EHl 2558 0 2sJH(WeHaE|)
O ==L §H 8= %%*:43 +4U4a%
O s AFNMTAL @ 4sIHLFNZ SRAAE, DUZMH S230HAH|) 530
O Sasa AFHZH 3 (2023) 3+D (Bt - HA 46, L= 11, II2 36) 261240t
O SAHsE AF MM 22(2022) : 76=IH IS 76) 248840+
O = AFHMLH 2=(241) @ 10sIHSE 6, It 4) 78%H0HA
O HARL LEFX : 155D} 52840
O =2 &MY XH3 @ 165D} 86248
O AFSHICT JIHEH X @ 4sIHAFSHIY|) 402402
O] 2t&A OGlAAIY 2o E
(ctel - 21)
ANSHH 3 H 7= '22A A 2304 & ‘233 &
e N | 2ABH3| | 1,441,343,600 2,274,382,000 1,287,103,200
IIEEL UG X 12,000,000 0 0
E|MY|AtEH| X 136,938,000 100,000,000 100,000,000
IIERELE B 255R AEAIY 36,000,000 12,000,000 0
SAREFIHM K| 423,631,000 1,044,000,000 120,480,000
IIEREL B 258 sY XA 27,184,000 76,412,000 73,478,200
EHIR= =208 AlHAIY 36,960,000 0 0
EHl AZH| X 0 0 0
ST AFHTZAIL X2 36,650,000 89, 100,000 68,477,000
EALSE AF T2 B2 542,744,600 339,500,000 339, 100,000
ety MH0IE HE2H K2 23,328,000 29,760,000 26,880,000
etH GHEEX HHl XK 27,000,000 19,170,000 19,055,000
SSEXNE SMSMsE SHRH 18,000,000 24,000,000 24,000,000
SRS SSYA XA 40,000,000 24,320,000 24,320,000
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Jooo= &l 36,580,210 1.80 % 35,471,800 2.40 % 1,108,410 3.12%
M 2 B = 21,036,860 1.04 % 0 0.00 % 21,036,860 =5
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